

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

01/23/2020 09:00 AM | Install Day 1 01/24/2020 09:00 AM | Install Day 2 01/25/2020 07:00 AM | Install Day 3 (touch ups) 01/25/2020 10:30 AM | Event 01/25/2020 05:00 PM | Strike 1 01/26/2020 07:30 AM | Strike PO: Shipping Address: Private Estate 2555 Benedict Canyon

## IN-0002794

**424 Productions** 8543 Santa Monica Blvd. Unit 11 West Hollywood, CA 90069

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
1/23 Additions					
P	Club & Lounge Chairs - Beverly Hills - Side Chair Blush W/ Silver Legs	2	\$250.00	Т	\$500.00
	Ottomans - Standard Pod 18" Round in rose and burgundy	8	\$60.00	Т	\$480.00
	Accent Pillows	20	\$25.00	Т	\$500.00
	Communal Tables - Chicago - 5' mirror top; with white frame	1	\$300.00	Т	\$300.00
AN LEADER	Sofas - Toronto - 4pc Sectional Grey (left arm) (center) (right arm) ONLY	2	\$650.00	Т	\$1,300.00
The second secon	Coffee Table - Paris - Gold	4	\$250.00	Т	\$1,000.00
	Ottomans - Hollywood - Blush W/ Gold Base	4	\$90.00	Т	\$360.00
	Wooden Piece for Truss 8' x 12" x 12" - painted same color as others	1	\$0.00	Т	\$0.00
IN YU	Dining Table - Napa - Dark Wood	1	\$350.00	Т	\$350.00
	Sofas - Hollywood - Taupe With Acrylic Legs 8'	3	\$500.00	Т	\$1,500.00
	Coffee Table - Balenciaga - Gold Leaf Rectangular	3	\$250.00	Т	\$750.00
â			Total 1/23 Additi	ons	\$7,040.00

Description		Qtty	Price		Total
Additionals					
	Icon Bar 10'L Bar - Icon - Straight 10' - Champagne Velvet Channeled for Dussey	1	\$1,100.00	т	\$1,100.00
	Athens Barback - White & Gold for Puma Station & Dussey Experiance	3	\$275.00	Т	\$825.00
	Beverly Hills DJ Facade - Pink Channeled Velvet Client needs to provide table	1	\$350.00	Т	\$350.00
	Moscow Oval Serving Cart - Antique Gold	2	\$215.00	Т	\$430.00
	Cubby Shelf White	2	\$200.00	т	\$400.00
	Washington Dining Chair - Gold burgundy cover	15	\$28.00	Т	\$420.00
	Laser Cut Fan for behind charcuterie	1	\$700.00	Т	\$700.00
			Total Additionals		\$4,225.00
Entrance					
	Perimeter Pullbacks for 10' x 15' for the valet tent	1	\$950.00	Т	\$950.00
	Perimeter Valance for 10' x 15' for the valet tent	1	\$550.00	Т	\$550.00
	Lisbon Sofa - Burgundy	1	\$600.00	Т	\$600.00
<b>S</b>	Lisbon Club Chair - Burgundy	2	\$275.00	Т	\$550.00
	Madrid Het-Lo Accent Table	2	\$125.00	т	\$250.00

Description		Qtty	Price		Total
	Balenciaga Gold Leaf Coffee Table	1	\$250.00	Т	\$250.00
			Total Entrance		\$3,150.00
Overhead Garde	n				
	Silver Decal 'Mirror' Walkway	1	\$3,000.00	Т	\$3,000.00
	Truss Leg Facades wood stained color	12	\$750.00	Т	\$9,000.00
	Metal Grid Pieces to create 'wave' for Celio's florals	30	\$100.00	Т	\$3,000.00
		Т	Total Overhead Garden		\$15,000.00
Main Tent					
	Perimeter Drape & Pullbacks for main tent and pop-out tents	1	\$16,500.00	Т	\$16,500.00
	Partial Ceiling Drape for main tent and pop-outs	1	\$22,500.00	Т	\$22,500.00
	Perimeter Valance for main tent and pop-out tents	1	\$4,450.00	Т	\$4,450.00
adic Localman an or Towardson or Towardson and Towardson and Towardson	Deco Chandelier - Brass And Crystal	3	\$1,100.00	Т	\$3,300.00
	Madrid Molding Bar 8'L	2	\$750.00	Т	\$1,500.00
	Madrid Molding Bar 8'6"L	2	\$750.00	Т	\$1,500.00
	Madrid Barback - Gold Leaf	6	\$275.00	Т	\$1,650.00
	Napa Dining Table - Dark Wood for food stations	6	\$350.00	Т	\$2,100.00
and the second	Toronto Sofa Sectional - Grey (4pc)	4	\$875.00	Т	\$3,500.00
	Custom Toronto Covers - Burgundy	16	\$275.00	Т	\$4,400.00
	Florence Console Table - Natural Wood to match floor sample	4	\$325.00	Т	\$1,300.00
P	Toronto Round Booth - Grey (4pcs)	3	\$875.00	Т	\$2,625.00

Description		Qtty	Price		Total
	Paris Coffee Table - Gold mirror top	8	\$250.00	Т	\$2,000.00
AT	Tokyo Accent Chair - Gold	15	\$115.00	Т	\$1,725.00
AT	Tokyo Accent Chair - Rose Gold custom rose velvet cover	1	\$115.00	Т	\$115.00
	Custom Cover Tokyo Accent Chair	16	\$90.00	Т	\$1,440.00
XX	Madrid Gold Leaf Bench - Blush Velvet	4	\$325.00	Т	\$1,300.00
	Hollywood Blush Ottomans - Brass base	8	\$90.00	Т	\$720.00
A	Madrid Accent Table - Portrack Marble Top	8	\$125.00	Т	\$1,000.00
Ĩ	Madrid Accent Table - Fuji Marble Top	3	\$125.00	Т	\$375.00
N. S. C.	St. Tropez Pedestals - Faux Marble (Large) to go between the round booths as a pedestal for Celio's Florals	3	\$165.00	Т	\$495.00
	Ottoman Pod 18"D shades of burgundy, rose, blush	19	\$90.00	Т	\$1,710.00
	Accent Pillows shades of burgundy, rose, blush	70	\$30.00	Т	\$2,100.00
	Buenos Aires Barstool - Gold burgundy chair cushions	32	\$40.00	Т	\$1,280.00
2			Total Main Tent		\$79,585.00
Services	Installers: Thursday	12	\$550.00		\$6,600.00
	Installers: Friday	12	\$550.00		\$6,600.00
	Installers: Saturday TouchUps 6am - 10am	12	\$250.00		\$3,000.00

Description	Qtty	Price	Total
Strike Saturday after event 5pm - 11pm	12	\$450.00	\$5,400.00
Installers: Strike Sunday	6	\$350.00	\$2,100.00
Trucking: 24'L	5	\$450.00	\$2,250.00
Decal Labor & Delivery	1	\$950.00	\$950.00
Manager: Onsite (3) Days	1	\$1,500.00	\$1,500.00
Manager: Design & Layouts	1	\$1,500.00	\$1,500.00
Certificates: Flame Proofing	1	\$950.00	\$950.00
Supplies: Misc	1	\$1,200.00	\$1,200.00

Please make checks payable to Revelry, Inc.	Total Products:	\$109,000.00
Note: Driver to delivering and nick upp all invaiges must be pay in full	Total Labor/Services/Misc:	\$32,050.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Taxes :	\$10,020.60
	Discounts:	(\$3,520.00)
Notes	Total:	\$147,550.60
	Payments:	(\$147,550.59)
	Balance:	\$0.01